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Abbreviations  
cao correct answer only 

ft  follow through after an error 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

1 (a) 

 

 (b) 

2 

 

 

1 

 

1 

Any length, can be freehand lines 

solid or dotted 

Mark lost if additional lines drawn or axes extended

2 

7

5

 72% 

17

9

 

1

3

4

−

⎟

⎠

⎞
⎜

⎝

⎛
 

2 M1 correct decimals  

0.727(6… )   0.71(4… )   0.72   0.75 

3 (a) 

 

 (b) 

06 41 

 

$204 

1 

 

1 

Allow 6.41(am). 6:41 and 06:41 

Not 6h41m or 641h or 6.41pm 

4  

 

 

1, 1 

 

 

5 

⎟

⎠

⎞
⎜

⎝

⎛

−

−

24

35

2

1
  or  ⎟

⎠

⎞
⎜

⎝

⎛

−

−

12

5.15.2

 

2 M1 det A or |A| or  5×–2 – 4×–3 = 2  or  

⎟

⎠

⎞
⎜

⎝

⎛

−

−

24

35

  or ⎟

⎠

⎞
⎜

⎝

⎛

dc

ba

2

1
 seen 

Allow 5/2, –3/2, 4/2, –2/2 in matrix 

6 62225000 or 6.2225 × 10
7

 or 62.225 

million  cao 

2 M1  9.5(million) and 6.55 seen 

3sf not appropriate for UB and not allowed for 

2 marks 

7 (4, 2) 2 

M1  

2

62 +

 and 

2

95 +−

 oe  

or a drawing used correctly 
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Qu Answers Mark Part Marks 

1 (a) 6 

 

 

(b) 0 

1 

 

 

1 

 

2 37, 41 2 B1, B1 independent  

3 

–0.577 or 

3

3−

 or 

3

1−

 

2 B1 numerator 0.5   oe 

or B1 denominator –0.866……or 

2

3−

 

4 1.25 x
4

  (or 1
4

1

x
4

) 2 B1 1.25 B1 x
4

 

5 139 2 M1  1.322 × 10
9

 / 9.5 × 10
8

   (× 100)  

 

6 8 2 M1  |A| = 0 × 12 – 1 × –4 or better 

or  |B| = 3 × –4 – 0 × 4 or better 

det symbol can be implied by the working 

7 

  

2 B1, B1 

8 10 www  2 M1  (–2 – –8)
2

 + (10 – 2)
2

 or better 

9 x = 0.5   y = 3   www 3 M1 consistent × and – for y 

      or consistent × and + for x   

A1 one correct provided M1 scored 

10 128 
 

3 M1  d = kv
2 
  A1 k = 2/25 (= 0.08) 

or M1 v
2

 = kd  A1 k = 12.5 

11 198  cao 3 M1  12.5 and 20.5  seen 

M1 6 × sum of their two upper bounds  

12 –36x
2

 + 48x or 12x(4 – 3x) oe 

or other partly factorised versions 

3 M1 squaring to “9x
2

 –12x + 4”        algebraic 

M1 multiplying by –4                      terms  

M1 adding 16                                  only 

13 x [ 0.8 or x [ 4/5 cao 3 B1  12 – 18x  B1  –4 + 8x these terms may be 

reversed if moved to the other side of the 

inequality         allow >= 

14 $12.92 3 M1 249 × r
3

      r can be anything 

dep M1  r = 1.017 and subtracting 249 

SC2   261.92  on answer line 
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Abbreviations 

 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

1 (a) ($) 450 B2 M1 for 650 ÷ (9 + 4) × 9 

(÷ 14 does not imply 9 + 4) 

 (b) (i) ($) 120 B2 M1 for 0.8 × 150     o.e. 

  (ii) ($) 80 ft B2 ft M1 for (150 – their(b)(i)) ÷ 0.375 o.e. 

only if +ve. After M0, SC1 for answer 320 

 (c) (i) ($) 441 B2 M1 for 400 × 1.05
2

  o.e. or for answer 41 

  (ii)   
100400)400(their 

2

1

×÷−(i)   o.e. 

 

5.125 or 5.13 or 5.12   c.a.o.   www3 

 

 

M2 

 

A1 

If use Simple Int in (i), M0, M0 in this 

part 

i.e. a full explicit method for r 

If M0, 

M1 for 400their

100

2400

−=

××

(i)

r

 

 

or their (i) ÷ 400 × 100 then – 100 

 

or 100

400

400- their 

×

(i)

    (s.o.i. by 10.25) 

 

If still M0, SC1 for answers 55.125 or 

55.12 or 55.13 or 55.1 or 0.05125 or 

0.0512 or 0.0513 

 [11]

 

2 (a) 1 B1  

 (b) 2.5   o.e. B1  

 (c) 2.96   c.a.o. B2 If B0, M1 for  

15 × 1 + 10 × 2 + 7 × 3 + 5 × 4 + 6 × 5 + 7 × 6  

(allow one slip) implied by 148 seen 

Ignore subsequent rounding 

 (d) 

 

60 × 2.95 (= 177) 

their 177 – their 148 (or 50 × their 2.96) 

  

(Mean of new rolls =) 2.9     c.a.o. www3 

M1 

M1 

 

A1 

 

Dependent on first M and only if positive 

or M1 for 

95.2

60

)10or ()96.2their 50(148their

=

+× xx

then M1 for 

148their 95.260)10or ( −×=xx   

(or 50 × their 2.96)   and only if positive 

 [7]
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Qu. Answers Mark Part Marks 

1 (a) –5  

 

(b) 11 

1 

 

1 

 

 

2 %482380.4

11

53

>>>  2 M1 for decimals seen 

4.7958…    0.48     (4.80)     4.81(…)      

3 500 2 M1 for 600 × 0.6 ÷ 0.72  seen 

4 70 2 M1 for 252 × 1000 ÷ 60 ÷ 60  oe 

5 18 2 M1 for 21.6 ÷ 1.2  oe 

6 x + 8 2 M1 3
8

  seen 

7 

 

2 B1 for one correct  Venn diagram 

 

 

8 

6

35 −x

 2 B1 for 5x – 3  seen 

SC1 

6

3

6

5

−x  on answer line 

9 5(.00) × 10
5 

2 SC1 for 5 × 10
k

 or 500 000 on answer line 

10 220.5 cao 2 M1 for 73.5 seen 

11 16.8  3 M2 tan17 = 

55

h

  or tan73 = 

h

55

 

or M1 tan17 = 

h

55

 or tan73 = 

55

h

 if angle seen in 

wrong place at P 

12 9 – 2x
2

 3 B1 for x
2

 – 3x – 3x + 9  or  2x
2

 – 6x – 6x + 18   

B1 for 4x
2

 – 6x – 6x + 9  or  –4x
2

 + 6x + 6x – 9 

13 (a) 0 

 

(b) 2 

 

(c) plane across centre of shape 

1 

 

1 

 

1 

 

 

 

 

Three possibilities 

14 6 3 M1 for one correct first step which leads towards 

simplifying  

9

2

123 =+−

y

y   

or 6(y – 4) + y = 18  

or y – 4 + 

6

y

 = 3 

M1 correctly collecting their  terms to py = q 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 
 

Qu. Answers Mark Part Marks 

1 (a) 240 ÷ 8 × 3 or 240 ÷ 8 × 5 or 

8

3

 of 240 

or 

8

5

 of 240  oe 

 

1 Accept reverse e.g. 90 : 150 = 3 : 5 and  

90 + 150 = 240 

 (b) (i) 5  www 2 2 M1 for 

290

9100

×

×

       oe 

  (ii) 165  www 2 2 M1 for 99 ÷ 0.6     oe 

 

 (c) 162.24  final answer cao 2 M1 for 150 × 1.04 × 1.04 oe implied by 

answer 162.2   

 

 (d) (i) 58.67  final answer  cao 3 SC2 for 58.7 or 

M1 for 

100

204150 ××

   oe   (120) 

then M1 (dependent on the first M1)  

328.67 – 150 – their 120 oe     

Answers of 208.67 or 208.7 imply first M1 

  (ii) 219 (.1….)  www 2 2 M1 for 100

150

67.328

×     oe          

2 (a) (i) ⎟
⎠

⎞
⎜
⎝

⎛

8

15

 2 B1 each component 

  (ii) 17  www 2 2ft ft their 15 and their 8. 

M1 for (their 15)
2

 + (their 8)
2

    

 

 (b) (i) 

2

1

v – 

2

1

c  or  

2

1

(v – c)   cao 2 M1 for CV

2

1

  soi 

  (ii) 

2

1

c + 

2

1

v  again allowing brackets cao 2 M1 for OM e.g. CMOC + or better seen  

or v – their (i)  

or c + their (i) 

  (iii) 

6

1

v – 

2

1

c  again allowing brackets cao 2 M1 for any correct route e.g. VLMV +     

or their (i) – 

3

1

 v          

or 

3

2

v – their (b)(ii)              
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 (a) (i) 2 : 3 1  

  (ii) 30 ÷ 2 × 3   o.e. E1 Allow 2 : 3 (oe) = 30 : 45 

  (iii) 60 2 M1 for 3 ÷ 5 × 100 oe 

 

 (b) 31.83 3 SC2 for 31.827 as final answer or not spoiled. 

or M1 for × 1.03 twice oe   

 

 (c) 1.5 2 M1 for 25.2

100

530

=

×× r

 oe     

or for 2.25 ÷ 5 then ÷ 30 × 100   

2 (a) 5.83 (5.830 to 5.831) 2 M1 for 3
2

 + 5
2

     

Any other method must be complete 

 

 (b) 113. 6 (114 or 113.5 to 113.6)  www 4 4 M2 for (cosC) = 

852

1185

222

××

−+

 

or M1 for correct implicit expression 

A2 (A1 for –0.4 or –

5

2

) 

 

 (c) 25.8 (25.77 to 25.85)  cao   www 3 3  M1 for 0.5 × 5 × 8 × sin (their angle C)  o.e 

must be full method e.g. Hero’s formula. 

M1 for 0.5 × 3 × 5  oe    
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9 (a) 

 

 (b) 

 

 (c) 

67 

 

62 

 

Correct labelled vertical scale 

Bars equal width (with 

consistent/without gaps),  or lines 

All 7 bars/lines correct height 

2 

 

1 

 

1 

1 

 

3ft 

M1 their 469 ÷ 7 

 

cao 

 

 

 

 

W2ft for 5 or 6 bars correct, W1ft for 3 or 4 

10 (a) (i)  
  (ii) 

325.65 

 

460.62 or 460.61 

2 

 

3 

 

M1 for 500 × 0.6513 soi 

 

M1 for 300 ÷ 0.6513    

A1 for 460.6 or 461 or 460.617…. 

W1 indep for their visible answer corrected to 

2dp 

 (b) 349.70 3 M1 for 

100

8.32325 ××

 or 24.7(0) 

M1dep for their interest added to 325 

 

 (c) 617.98 3 M2 for 550 × 1.06
2

  

or M1 for 550 × 1.06 oe  

and M1 dep for second year  

Penalise accuracy only once in the question 

11 (a)(i) 

 

  (ii) 

 

 

 (b)(i) 

Reflection in the x-axis (or y = 0) 

 

Rotation, about origin, 90° (anti-

clockwise) 

 

Correct translation 

1, 1 

 

1, 1, 1 

 

 

2 

 

 

 

Accept (0,0) or O 

Accept  (+) 90, − 270, ¼ turn 

 

W1 for correct shape and orientation translated 

by ⎟
⎠

⎞
⎜
⎝

⎛

0

6

 or ⎟
⎠

⎞
⎜
⎝

⎛

4

0

 or ⎟
⎠

⎞
⎜
⎝

⎛

6

4

 

  (ii) Correct enlargement 2 W1 for correct orientation and size but wrong 

position 

 

Page 4 Mark Scheme: Teachers’ version Syllabus Paper 

 IGCSE – May/June 2010 0580 31 

 

© UCLES 2010 

 

6 (a) 

 

 (b) 

 

 

 

 (c) 

 

 (d) 

 

 (e) 

 

 

 (f) 

–1.5   –10   10   6   1.2 

 

14 points plotted accurately 

2 smooth correct curves 

No part across y-axis 

 

0.4 to 0.5 

 

−3   −1    1 

 

Ruled line from (−3, −3) to (3, 1) 

 

 

(−1.5,  −2)  and  (3,  1) 

3 

 

P3ft 

C1 

B1 

 

1 

 

2 

 

2 

 

 

1,  1 

B2 for 3 or 4 correct, B1 for 2 correct 

 

P2ft for 11, 12 or 13 points, P1ft for 8, 9 or 10 

 

Indep 

 

 

 

B1 for 2 correct 

 

SC1 for freehand or short ruled line – must meet 

curve twice or P1 for their 3 points plotted 

7 (a) 

 

 (b) 

−3 

 

8 

2 

 

2 

1 for correct substitution seen 

 

M1 for 37−5 =4d  oe 

 (c) 

4

aS −

 2 M1 for one correct step seen 

8 (a) 314.60 3 M1 for 

100

6.34275 ××

 or 39.6 

M1 dep for their interest added to 275 

 

 (b) 703.04 3 M2 for 650 × 1.04
2

   

or M1 for 650 × 1.04 oe  (implied by 676) 

and M1 dep for second year  

 

 (c) (i) 

 

  (ii) 

314.28 

 

627.55 or 627.54 

 

2 

 

3 

M1 for 400 × 0.7857 

 

M1 for  400 ÷ 0.6374 soi 

A1 627.54…, 628, 627.5 

B1 indep  for their visible  answer corrected 

to 2dp 

Penalise accuracy only once in the question 

9 (a) (i) 

 

  (ii) 

 

 (b) 

 

 

 (c) 

 

 

 (d) 

 

 (e) 

9 or 8.9 to 9.1 

 

53 – 55 

 

compass drawn circle centre C radius  

7 cm   

 

correct line drawn with angle BCX  = 

67° 

 

in range 9.3 – 9.9  

 

ruled accurate angle bisector of their 

CBX with 2 pairs of arcs 

1 

 

1 

 

2 

 

 

2ft 

 

 

1ft 

 

2ft 

 

 

 

 

SC1 incomplete accurate circle 

SC1 any complete circle centre C 

 

SC1 for BCX = 113°  or BCX = 67°   inside 

triangle or BCX = 67°, CX not = 7 

 

Strict ft from (c) 

 

SC1 if accurate but without arcs 

or M1 for 2 pairs of arcs 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 20 (but 3, 4 and 8 must be seen www) 2 M1 3, 4 and 8  seen www 

2 1.2496 cao 2 Allow 1

625

156

 

M1 1 + 0.2 + 0.04 + 0.008 + 0.0016  

3 2 2 M1 3x – 1 – 3x + 3 

4 0.9
3

  0.9
2

  9.0   
3

9.0  2 M1 0.94(8683…)  0.96(5489….)  0.8(1) 0.7(29) 

5 (a) 5 

 

(b) 2 

1 

 

1 

 

6 1.15(2) × 10
–2 

2 M1 figs 115(2) 

7 

x

x

2

5 +

 2 M1 4 + 1 + x   seen 

or M1 

x

x

4

210 +

 oe 

8 40.5  2 M1 6.75 seen or 6 × their LB   

9 $674.92, 674.9(0) or 675  3 M2 600 × (1 + (4/100))
3

 or better     oe 

or M1 600 × 1.04
2

  oe  

10 x = 4     y = –3  3 M1 consistent mult and sub/add 

A1 one correct value but M must be scored 

11 
D P C

1
2 3

A O B

0

2

2
11

 

3 Marks allocated for R in one of the regions shown 

12 
x = +/- √(5y) – 3 

or x = +/- y5  – 3 

3 M1 correct move of the 5 completed   

M1 correct move of the square completed 

M1 correct move of the 3 completed 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working   
Qu. Answers Mark Part Marks 

1 –8.3 1 Allow –8

10

3

 

2 21 55  1 Allow 9.55 pm 

3 1.6305 cao 2 B1 4.33(44…) seen or answer 1.63, 1.630, 

1.6304….
 

4 

   

1, 1 
 

5 Correct working 2 M1 

4

15

 + 

3

4

 = 

12

16

12

45

+  

M1 

12

1

5

12

61

=  

6 4.93% < 

41

20

 < 0.492 < 

161

80

 2 Allow decimal equivalents in answer space 

M1 decimals 0.48(78..), 0.496(8..), 0.0493   

7 1.14 2 M1 3.38 ÷ 1.04 (= 3.25)   

or M1 4.39 × 1.04  

8 1200 2 M1 figs 8 ÷ 40 × figs 9 ÷ 15   

or M1 (figs 8 × figs 9) ÷ (40 × 15) 

9 9.6 cao  2 M1 

10

12

8

=

x

 oe  

10 216.32 cao 2 M1 200 × (1 + (4/100))
2

 oe     

11 13
 

2 M1 21 + 15 – 23  

or M1 15 – x + x + 21 – x + 1 = 24 oe  

12 (a) 25 

 

(b) 0.4 

1 

 

1 

If zero scored SC1 for 250 and 4 or  

6.25 and 6.35 

13 10a + b or a × 10
1

 + b (× 10
0

) 2 M1 [a × 10
7

 + b × 10
6

] ÷ 10
6
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Mark 

1 2y(x – 2z) 2 B1 for y(2x – 4z) or 2(xy – 2yz) 

2 (x =) 3(y – 5) oe final answer 2 M1 for correct first move  

y – 5 = 

3

x

 or 3y = x + 15 

M1 for their correct second move  

3 (a) 

 

 

 

 

 (b) 

 

 

 

 

 

14 

 

1 

 

 

 

1 

 

4 816 cao 2 M1 197.5 and 210.5 seen 

5 a  any negative integer  

n  any even (positive) integer 

2 B1 for one correct 

6 (a) 

 

 (b) 

1.646 × 10
7

  

 

3.32 × 10
–2

  

1 

 

2 

 

 

B1 for 0.0332 seen or 3.3 × 10
–2

 as answer 

or B1 for 3.32 × 10
k

 

7 (a) 

 

 (b) 

36 

 

correct working  

1 

 

2 

 

 

M1 for 
6

7

 oe improper fraction 

M1 for 
21

12

 = 
7

4

 oe or visible cancelling 

8 (x =) 5   (y =) –1 3 M1 for consistent multiplication and add/subtract 

as appropriate 

A1 for 1 correct answer 

9 127.31 cao 3 M1 for 120 × 1.03
2

  

A1 for 127.308 

If M0 award SC2 for 7.31 or 247.31 

10 120 3 M1 7t + 11(t + 5) = 2215 

A1 18t + 55 = 2215  

11 500 3 M1 V = kL
3

 any letters may be used for V, k and L 

A1 k = 4 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

art anything rounding to 

soi seen or implied 

 

 

Qu. Answers Mark Part Marks 

1 (a) (i) 25 

(ii) 15.5 (15.46 to 15.47) 

(iii) 0.05 oe    

1 

1 

2 

 

 

B1 for 1/100 or 0.01 seen 

 (b) 8812.50 final answer      www 3 3 Condone 8812.5 

M2 for 7500 × 5 × 0.035 + 7500 oe (implied by 

final answers 8810, 8812, 8813 or 8812.5(0) 

seen) 

or B2 for 1312.5 as final answer 

or M1 for 7500 × 5 × 0.035 oe (implied by final 

answers 1310, 1312, 1313) 

 (c) (i) 2
2

 × 3 × 5 

 

 

 

(ii) 12 

(iii) 240 

2 

 

 

 

2 

2 

Allow 2 × 2 × 3 × 5 

M1 for any correct product of 3 factors = 60 seen

or correct factor ladder or correct tree 

(condone 1’s on tree/ladder) 

M1 for 2
2

 × 3 or 2 × 2 × 3 oe 

M1 for 2
4

 × 3 × 5 or 2 × 2 × 2 × 2 × 3 × 5 oe 

SC2 only for both correct answers (ii) (iii) 

reversed  

2 (a) 3.02 (3.023…)      www 4 4 M3 for
222

1.71.52 ++  oe  may be in two steps  

or 9.15...to9.11    (3.018 to 3.026..) 

or M2 for 2
2

 + 1.5
2

 + 1.7
2

 oe implied by 9.11 to 

9.15…. 

or M1 for any correct Pythag in 1 of the faces 

e.g. 2
2

 + 1.5
2 

 

 (b) 34.1 to 34.3    cao         www 3 3 M2 for sin = 1.7/their EC 

or cos = their EG/their EC or tan = 1.7/their EG 

or complete long method 

(M1 for CEG as required angle – accept on 

diagram if clear) 

 (c) (i) 2.95 cao 

(ii) Yes and because their (c)(i) < their 

(a) 

1 

1ft 

 

ft their (a) and their (c)(i), must say yes or no oe 

and compare the two distances – numerically or 

by labels 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 112 2 M1 for 240 ÷ (7 + 8) × 7  

2 (a) 211 cao 1  

 (b) 216 cao 1  

3 (x =) –3   (y =) 5  2 M1 for correctly eliminating one variable 

4 

81

16

  cao 2 B1 for

16

81

,

81

k

,

k

16

or (2/3)
4

 seen 

5 (a) 1.28 × 10
5 

1  

 (b) 128 500 1  

6 882 2 M1 800 × 1.05 × 1.05 

7 

9

1

,

4

1

 
M1 Both fractions seen 

 

⎟

⎠

⎞
⎜

⎝

⎛
=+

4

1

9

1

36

4

+

36

9

=

36

13

 

E1 Both fractions over a common denominator and 

added to give

36

13

 

8 0.186 2 B1 for 2.477 to 2.478 or 13.29… seen 

9 (a) 5 or −5 1  

 (b) −0.714 (−0.7143 to −0.7142) or −

7

5

 2 M1 for −2 + 2 + 1 − 3 − 1 − 2 and ÷ 7 

10 9 h 12 min 3 M1 for 8 × 1.15   A1 for 9.2 

B1 ft independent for their 9.2 correctly 

converted into hours and minutes 

11 x(p – 2q)(p + 2q) 3 M2 for (px – 2qx)(p + 2q) or (p – 2q)(px + 2qx) 

or M1 for x(p
2

 – 4q
2

)  

12 225.(23112) 3 M2 for (800 ÷ 3.8235 – 150) × 3.8025 

M1 for 800 ÷ 3.8235 

13 68.5   www 3 M2 for 67.13 ÷ 0.98 

or M1 for 67. 13 is 98%  

14 

3

2

66 or 66.7   www 3 M2 for 

)2(π

π

2

3

3

4

rr

r

 (× 100)   or M1 for )2(π
2

rr  

15  

xa

c

p

−

=  

3 M1 one correct move 

M1 second correct move 

M1 third correct move marked on answer line 


